

# GAUSSIAN FIBONACCI AND GAUSSIAN LUCAS $p$ -NUMBERS

MUSTAFA ASCI\* AND ESREF GUREL

**ABSTRACT.** In this paper we define and study the Gaussian Fibonacci and Gaussian Lucas  $p$ -numbers. We give generating functions, Binet formulas, explicit formulas, matrix representations and sums of Gaussian Fibonacci  $p$ -numbers by matrix methods. For  $p = 1$  these Gaussian Fibonacci and Gaussian Lucas  $p$ -numbers reduce to the Gaussian Fibonacci and the Gaussian Lucas numbers.

## 1. INTRODUCTION

A. F. Horadam [17] introduced the concept of the complex Fibonacci numbers and established some quite general identities concerning them. J. R. Jordan [19] extended some relationships which are known for the usual Fibonacci sequences to the Gaussian Fibonacci and Gaussian Lucas sequences.

The Gaussian Fibonacci sequence in [19] is defined as  $GF_0 = i$ ,  $GF_1 = 1$  and  $GF_n = GF_{n-1} + GF_{n-2}$  for  $n > 1$ . One can see that

$$GF_n = F_n + iF_{n-1} \quad (1.1)$$

where  $F_n$  is the usual  $n$ th Fibonacci number.

The Gaussian Lucas sequence in [19] is defined in a way similar to Gaussian Fibonacci sequence as  $GL_0 = 2 - i$ ,  $GL_1 = 1 + 2i$ , and  $GL_n = GL_{n-1} + GL_{n-2}$  for  $n > 1$ . Also it can be seen that

$$GL_n = L_n + iL_{n-1} \quad (1.2)$$

where  $L_n$  is the usual  $n$ th Lucas number.

There are many important generalizations of Fibonacci and Lucas numbers. The generalized Fibonacci and Lucas  $p$ -numbers [41] are examples of them and are defined by:

$$F_{p,n} = F_{p,n-1} + F_{p,n-p-1} \quad (1.3)$$

---

*Key words and phrases.* Fibonacci numbers, Gaussian Fibonacci numbers, Gaussian Fibonacci  $p$ -Numbers, Gaussian Lucas  $p$ -Numbers.

\* The corresponding author.

with initial conditions  $F_{p,0} = 0$  and  $F_{p,n} = 1, n = 1, 2, \dots, p$ , and

$$L_{p,n} = L_{p,n-1} + L_{p,n-p-1} \quad (1.4)$$

with initial conditions  $L_{p,0} = p + 1$  and  $L_{p,n} = 1, n = 1, 2, \dots, p$  where  $p = 0, 1, 2, \dots$  and  $n = 0, \pm 1, \pm 2, \pm 3, \dots$

The complex Fibonacci numbers and Gaussian Fibonacci numbers are studied by some other authors [3, 14, 18]. The complex Fibonacci polynomials were defined and studied in [16] by Horadam. Harman [14] give a new approach toward the extension of Fibonacci numbers into the complex plane. Before this study there were two different methods for defining such numbers studied by Horadam [17] and Berzsenyi [3]. Harman [14] generalized both of the methods. In [5, 6, 9, 11, 26] theories of the generalized Fibonacci and Lucas polynomials are developed. Yu and Liang [45] derive some identities involving the partial derivative sequences of the bivariate Fibonacci polynomials  $F_n(x, y)$  and the bivariate Lucas polynomials  $L_n(x, y)$ . Djordjevic [7, 8] considered the generating functions, explicit formulas and partial derivative sequences of the generalized Fibonacci and Lucas polynomials. Good [12] points out that the square root of the Golden Ratio is the real part of a simple periodic continued fraction but using (complex) Gaussian integers  $a + ib$  instead of the natural integers. For more information one can see [4, 10, 11, 13, 15, 18, 22, 27, 28, 42, 44, 46].

Asci and Gurel in [1] defined bivariate Gaussian Fibonacci and Gaussian Lucas polynomials and extended some relationships which are known for the usual Fibonacci sequence, polynomials and bivariate polynomials to the bivariate Gaussian Fibonacci polynomials. Also the authors in [2] define the Gaussian Jacobsthal and Gaussian Jacobsthal Lucas numbers. They give generating functions, Binet formulas, explicit formulas and  $Q$  matrix of these numbers. They also present explicit combinatorial and determinantal expressions, study negatively subscripted numbers and give various identities. Similar to the Jacobsthal and Jacobsthal Lucas numbers they give some interesting results for the Gaussian Jacobsthal and Gaussian Jacobsthal Lucas numbers

Stakhov and Rozin in [31] established theory of Binet formulas for Fibonacci and Lucas  $p$ -numbers. Stakhov [30, 35] generalized Fibonacci  $Q$ -matrix, Fibonacci matrices, and the "Cassini formula". Also Stakhov in [29, 32, 33, 34, 36, 37, 38, 39, 40] introduced algorithmic measurement theory and generalized principle of the golden section. Tuglu et al. in [21, 43] study the bivariate Fibonacci and Lucas  $p$ -polynomials ( $p \geq 0$  is integer) from which, specifying  $x, y$  and  $p$ , bivariate Fibonacci and Lucas polynomials, bivariate Pell and Pell-Lucas polynomials, Jacobsthal and Jacobsthal-Lucas polynomials, Fibonacci and Lucas  $p$ -polynomials, Fibonacci and Lucas  $p$ -numbers, Pell and Pell-Lucas  $p$ -numbers and Chebyshev polynomials of the first and second kind, are obtained. Tuglu et al.

[20] introduced  $m$ -extension of Fibonacci and Lucas  $p$ -numbers. Lee et al. in [23, 24, 25] derived a generalized Binet formula for  $k$ -generalized Fibonacci sequence by using determinants and gave several representation of  $k$ -generalized Fibonacci numbers.

In this article we define and study the Gaussian Fibonacci  $p$ -Numbers and Gaussian Lucas  $p$ -Numbers. We give generating functions, Binet formulas, explicit formulas, matrix representations and sums of Gaussian Fibonacci  $p$ -numbers by matrix methods. By defining these Gaussian  $p$ -Fibonacci and Gaussian  $p$ -Lucas Numbers for special cases for  $p = 1$ ,  $GF_n$  is the Gaussian Fibonacci and  $GL_n$  is the Gaussian Lucas numbers defined in [19].

## 2. GAUSSIAN FIBONACCI AND GAUSSIAN LUCAS $p$ -NUMBERS

**Definition 1.** Let  $p$  be an integer the Gaussian Fibonacci  $p$ -numbers  $\{GF_{p,n}\}_{n=0}^{\infty}$  are defined by the following recurrence relation

$$GF_{p,n} = GF_{p,n-1} + GF_{p,n-p-1}, \quad n > p \quad (2.1)$$

with initial conditions  $GF_{p,0} = i$ ,  $GF_{p,n} = 1$ ,  $n = 1, 2, \dots, p$

It can be easily seen that

$$GF_{p,n} = F_{p,n} + iF_{p,n-p}$$

where  $F_{p,n}$  is the  $n$ th Fibonacci  $p$ -number.

**Definition 2.** The Gaussian Lucas  $p$ -numbers  $\{GL_{p,n}\}_{n=0}^{\infty}$  are defined by the following recurrence relation

$$GL_{p,n} = GL_{p,n-1} + GL_{p,n-p-1}, \quad n > p \quad (2.2)$$

with initial conditions  $GL_{p,0} = p + 1 - pi$ ,  $GL_{p,n} = 1$ ,  $n = 1, 2, 3, \dots, p - 1$  and  $GL_{p,p} = 1 + (p + 1)i$

Also

$$GL_{p,n} = L_{p,n} + iL_{p,n-p}$$

where  $L_{p,n}$  is the  $n$ th Lucas  $p$ -number.

### 2.1. Some Properties of Gaussian Fibonacci and Gaussian Lucas $p$ -Numbers.

**Theorem 1.** The generating function for the Gaussian Fibonacci  $p$ -numbers is

$$g(t) = \sum_{n=0}^{\infty} GF_{p,n} t^n = \frac{t + i(1-t)}{1-t-t^{p+1}}$$

and for the Gaussian Lucas  $p$ -numbers is

$$h(t) = \sum_{n=0}^{\infty} GL_{p,n} t^n = \frac{p+1-pt-i[p-pt-(p+1)t^p]}{1-t-t^{p+1}}$$

*Proof.* Let  $g(t)$  be the generating function of the Gaussian Fibonacci  $p$ ,  $GF_{p,n}$ . Then

$$\begin{aligned} g(t) - tg(t) - t^{p+1}g(t) &= GF_{p,0} + tGF_{p,1} - tGF_{p,0} \\ &\quad + \sum_{n=2}^{\infty} t^n GF_{p,n} - GF_{p,n-1} - GF_{p,n-2} \\ &= t + i(1-t) \end{aligned}$$

By taking  $g(t)$  in parenthesis we get

$$g(t) = \frac{t + i(1-t)}{1-t-t^{p+1}}.$$

The proof is completed.  $\square$

Binet's formulas are well known and studied in the theory of Fibonacci numbers. Let  $x_1, x_2, x_3, \dots, x_p, x_{p+1}$  be the different roots of the characteristic equation of the recurrence relation (1.3). Then the Binet formula of the Fibonacci  $p$ -numbers are given in [31].

Now we can give the Binet formula for the Gaussian Fibonacci  $p$ -numbers and the Gaussian Lucas  $p$ -numbers

**Theorem 2.** For  $n \geq 0$

$$GF_{p,n} = k_1 x_1^n + k_2 x_2^n + \dots + k_{p+1} x_{p+1}^n + i (k_1 x_1^{n-p} + k_2 x_2^{n-p} + \dots + k_{p+1} x_{p+1}^{n-p})$$

and

$$GL_{p,n} = t_1 x_1^n + t_2 x_2^n + \dots + t_{p+1} x_{p+1}^n + i (t_1 x_1^{n-p} + t_2 x_2^{n-p} + \dots + t_{p+1} x_{p+1}^{n-p}).$$

*Proof.* Theorem can be proved by mathematical induction on  $n$ .  $\square$

**Theorem 3.** The explicit formulas of Gaussian Fibonacci  $p$ -numbers and Gaussian Lucas  $p$ -numbers for  $n \geq 1$  and  $p \geq 1$  are

$$GF_{p,n} = \sum_{k=0}^{\lfloor \frac{n-1}{p+1} \rfloor} \binom{n-pk-1}{k} + i \sum_{k=0}^{\lfloor \frac{n-p-1}{p+1} \rfloor} \binom{n-p-pk-1}{k}$$

and

$$GL_n = \sum_{k=0}^{\lfloor \frac{n}{p+1} \rfloor} \frac{n}{n-pk} \binom{n-pk}{k} + i \sum_{k=0}^{\lfloor \frac{n-p}{p+1} \rfloor} \frac{n-p}{n-p-pk} \binom{n-p-pk}{k}.$$

*Proof.* Theorem can be proved by mathematical induction on  $n$ .  $\square$

Taking  $p = 1$  gives

**Corollary 1.** [1] *Usual explicit formulas of Gaussian Fibonacci numbers and Gaussian Lucas numbers are*

$$GF_n = \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n-k-1}{k} + i \sum_{k=0}^{\lfloor \frac{n-2}{2} \rfloor} \binom{n-k-2}{k}$$

and

$$GL_n = \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \frac{n}{n-k} \binom{n-k}{k} + i \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} \frac{n-1}{n-k-1} \binom{n-k-1}{k}$$

**Theorem 4.** For  $n > p$

$$GL_{p,n} = GF_{p,n+1} + pGF_{p,n-p}$$

*Proof.* It can be seen from the generating functions. □

**Corollary 2.** [19] For  $n \geq 1$

$$GL_n = GF_{n+1} + GF_{n-1}.$$

**Theorem 5.** *The sums of the Gaussian Fibonacci and Gaussian Lucas  $p$ -numbers are given as:*

$$(i) \sum_{k=0}^n GF_{p,k} = GF_{p,n+p+1} - 1$$

$$(ii) \sum_{k=0}^n GL_{p,k} = GL_{p,n+p+1} - [1 + (p+1)i]$$

*Proof.* By the definition of Gaussian Fibonacci  $p$ -numbers;

$$GF_{p,n} = GF_{p,n-1} + GF_{p,n-p-1} \tag{2.3}$$

Replace  $n$  with  $n + p + 1$  in identity (2.3) to obtain

$$GF_{p,n+p} = GF_{p,n+p+1} - GF_{p,n}$$

and further

$$\begin{aligned} \sum_{k=0}^n GF_{p,k+p} &= \sum_{k=0}^n GF_{p,k+p+1} - \sum_{k=0}^n GF_{p,k} \\ &= \sum_{k=0}^n GF_{p,k} + \sum_{k=n+1}^{n+p+1} GF_{p,k} - \sum_{k=0}^p GF_{p,k} - \sum_{k=0}^n GF_{p,k} \\ &= \sum_{k=0}^p GF_{p,k+n+1} - \sum_{k=0}^p GF_{p,k} \\ &= \sum_{k=0}^p (GF_{p,k+n+1} - GF_{p,k}) \end{aligned}$$

and by definition of Gaussian Fibonacci  $p$ -numbers

$$\begin{aligned} \sum_{k=0}^n GF_{p,k+p+1} &= GF_{p,n+p+1} - GF_{p,p} + \sum_{k=p}^{n+p} GF_{p,k} \\ &= GF_{p,n+p+1} - GF_{p,p} + \sum_{k=0}^n GF_{p,k+p} \end{aligned}$$

and thus

$$\sum_{k=0}^n GF_{p,k+p+1} - \sum_{k=0}^n GF_{p,k+p} = GF_{p,n+p+1} - GF_{p,p}$$

So we get the solution

$$\begin{aligned} \sum_{k=0}^n GF_{p,k} &= GF_{p,n+p+1} - GF_{p,p} \\ &= GF_{p,n+p+1} - 1. \end{aligned}$$

□

**Corollary 3.** [19] For  $n \geq 0$

$$\sum_{k=0}^n GF_k = GF_{n+2} - 1$$

**Corollary 4.** [19] For  $n \geq 0$

$$\sum_{k=0}^n GL_k = GL_{n+2} - (1 + 2i)$$

**Lemma 1.** [43] For  $n \geq 0$

$$\begin{aligned} \sum_{k=0}^n F_{p,k} L_{p,n-k} &= (n+p) F_{p,n} \\ \sum_{k=0}^n F_{p,k+1} L_{p,n-k} &= (n+p+1) F_{n+1} \\ \sum_{k=0}^n F_{p,k+1} L_{p,n-k+1} &= (n+1) F_{p,n+2} \\ \sum_{k=0}^n F_{p,k} L_{p,n-k+1} &= n F_{p,n+1} \end{aligned}$$

**Theorem 6.** For  $n \geq 0$

$$\sum_{k=0}^n GF_{p,k}GL_{p,n-k} = -2i(n+p)F_{p,n} + (i+1)(2n+p+1)F_{p,n+1} - (n+1)F_{p,n+2}$$

*Proof.* By the definition and lemma 1

$$\begin{aligned} \sum_{k=0}^n GF_{p,k}GL_{p,n-k} &= \sum_{k=0}^n (F_{p,k} + iF_{p,k-p})(L_{p,n-k} + iL_{p,n-k-p}) \\ &= \sum_{k=0}^n [F_{p,k}L_{p,n-k} + iF_{p,k}L_{p,n-k-p} + iF_{p,k-p}L_{p,n-k} - F_{p,k-p}L_{p,n-k-p}] \end{aligned}$$

It can be easily seen that

$$F_{p,k-p} = F_{p,k+1} - F_{p,k}$$

$$L_{p,n-k-p} = L_{p,n-k+1} - L_{p,n-k}$$

and

$$\begin{aligned} \sum_{k=0}^n GF_{p,k}GL_{p,n-k} &= \sum_{k=0}^n [F_{p,k}L_{p,n-k} + iF_{p,k}(L_{p,n-k+1} - L_{p,n-k}) \\ &\quad + i(F_{p,k+1} - F_{p,k})L_{p,n-k} \\ &\quad - (F_{p,k+1} - F_{p,k})(L_{p,n-k+1} - L_{p,n-k})] \\ &= \sum_{k=0}^n [F_{p,k}L_{p,n-k} + iF_{p,k}L_{p,n-k+1} \\ &\quad - iF_{p,k}L_{p,n-k} + iF_{p,k+1}L_{p,n-k} - iF_{p,k}L_{p,n-k} \\ &\quad - (F_{p,k+1}L_{p,n-k+1} - F_{p,k+1}L_{p,n-k} \\ &\quad - F_{p,k}L_{p,n-k+1} + F_{p,k}L_{p,n-k})] \\ &= \sum_{k=0}^n [iF_{p,k}L_{p,n-k+1} - iF_{p,k}L_{p,n-k} + iF_{p,k+1}L_{p,n-k} - iF_{p,k}L_{p,n-k} \\ &\quad - F_{p,k+1}L_{p,n-k+1} + F_{p,k+1}L_{p,n-k} + F_{p,k}L_{p,n-k+1}] \\ &= (i+1) \sum_{k=0}^n F_{p,k}L_{p,n-k+1} - 2i \sum_{k=0}^n F_{p,k}L_{p,n-k} \\ &\quad + (i+1) \sum_{k=0}^n F_{p,k+1}L_{p,n-k} - \sum_{k=0}^n F_{p,k+1}L_{p,n-k+1} \end{aligned}$$

by lemma 1

$$\begin{aligned}
 \sum_{k=0}^n GF_{p,k}GL_{p,n-k} &= (i+1)nF_{p,n+1} - 2i(n+p)F_{p,n} \\
 &\quad + (i+1)(n+p+1)F_{p,n+1} - (n+1)F_{p,n+2} \\
 &= -2i(n+p)F_{p,n} + (i+1)(2n+p+1)F_{p,n+1} \\
 &\quad - (n+1)F_{p,n+2}.
 \end{aligned}$$

□

**Theorem 7.** For  $m, n \geq 1$ , then

$$GF_{p,m+n} = F_{p,m}GF_{p,n+1} + \sum_{k=1}^p F_{p,m-k}GF_{p,n-p+k}.$$

*Proof.* The formula is trivially true for  $n = p$  and  $n = p + 1$ .

$$GF_{p,m+p} = F_{p,m}GF_{p,p+1} + \sum_{k=1}^p F_{p,m-k}GF_{p,k}$$

and

$$GF_{p,m+p+1} = F_{p,m}GF_{p,p+2} + \sum_{k=1}^p F_{p,m-k}GF_{p,k+1}$$

Assume it is true for  $n = t - p$  and  $n = t$  where  $t \geq p + 1$ , that is,

$$GF_{p,m+t-p} = F_{p,m}GF_{p,t-p+1} + \sum_{k=1}^p F_{p,m-k}GF_{p,t-2p+k} \quad (2.4)$$

$$GF_{p,m+t} = F_{p,m}GF_{p,t+1} + \sum_{k=1}^p F_{p,m-k}GF_{p,t-p+k}. \quad (2.5)$$

Adding identities (2.4) and (2.5)

$$\begin{aligned}
 GF_{p,m+t-p} + GF_{p,m+t} &= F_{p,m}(GF_{p,t-p+1} + GF_{p,t+1}) \\
 &\quad + \sum_{k=1}^p F_{p,m-k}(GF_{p,t-p+k} + GF_{p,t-2p+k})
 \end{aligned}$$

and further

$$\begin{aligned}
 GF_{p,m+t+1} &= F_{p,m}GF_{p,t+2} + F_{p,m-1}(GF_{p,t-p+1} + GF_{p,t-2p+1}) \\
 &\quad + F_{p,m-2}(GF_{p,t-p+2} + GF_{p,t-2p+2}) \\
 &\quad + F_{p,m-3}(GF_{p,t-p+3} + GF_{p,t-2p+3}) \\
 &\quad + \dots + F_{p,m-p}(GF_{p,t} + GF_{p,t-p}).
 \end{aligned}$$



By the definition of recurrence relation (2.1)

$$\begin{aligned} GF_{p,m+t+1} &= F_{p,m}GF_{p,t+2} + F_{p,m-1}GF_{p,t-p+2} + F_{p,m-2}GF_{p,t-p+3} \\ &\quad + \dots + F_{p,m-p}GF_{p,t+1} \\ &= F_{p,m}GF_{p,t+2} + \sum_{k=1}^p F_{p,m-k}GF_{p,t-p+k+1}. \end{aligned}$$

□

**Corollary 5.** [1] For  $m, n \geq 1$

$$GF_{m+n} = F_m GF_{n+1} + F_{m-1} GF_n.$$

Now we introduce the matrices  $Q_p$  and  $R_p$  that play the role of the  $Q$ -matrix. Let  $Q_p$  and  $R_p$  denote the  $(p+1) \times (p+1)$  matrices defined as

$$Q_p = \begin{bmatrix} 1 & 0 & 0 & \cdots & 0 & 1 \\ 1 & 0 & 0 & \cdots & 0 & 0 \\ 0 & 1 & 0 & \cdots & 0 & 0 \\ \vdots & \vdots & \ddots & \ddots & \vdots & \vdots \\ 0 & 0 & \cdots & \cdots & 0 & 0 \\ 0 & 0 & \cdots & 0 & 1 & 0 \end{bmatrix}_{(p+1) \times (p+1)}$$

and

$$R_p = \begin{bmatrix} 1+i & 1 & 1 & \cdots & 1 & 1 & 1 \\ 1 & 1 & 1 & \cdots & 1 & 1 & i \\ 1 & 1 & 1 & \cdots & 1 & i & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ 1 & 1 & i & \cdots & 0 & 0 & 0 \\ 1 & i & 0 & \cdots & 0 & 0 & 0 \end{bmatrix}_{(p+1) \times (p+1)}$$

Then we can give the following theorem:

**Theorem 8.** Let  $n \geq 1$ . Then

$$Q_p^n R_p = \begin{bmatrix} GF_{p,n+p+1} & GF_{p,n+p} & \cdots & GF_{p,n+2} & GF_{p,n+1} \\ GF_{p,n+p} & GF_{p,n+p-1} & \cdots & GF_{p,n+1} & GF_{p,n} \\ \vdots & \vdots & \ddots & \vdots & \vdots \\ GF_{p,n+2} & GF_{p,n+1} & \cdots & GF_{p,n-p+3} & GF_{p,n-p+2} \\ GF_{p,n+1} & GF_{p,n} & \cdots & GF_{p,n-p+2} & GF_{p,n-p+1} \end{bmatrix}$$

*Proof.* Theorem can be proved by mathematical induction on  $n$ . □

Now we introduce the matrices  $B$  and  $C$  for finding the sums of Gaussian Fibonacci  $p$ -numbers. For  $p \geq 1$  let  $B = (b_{ij})$  denote the  $(p+2) \times (p+2)$

matrix such that

$$B = \begin{bmatrix} 1 & 0 & 0 & \cdots & \cdots & \cdots & 0 \\ 1 & 1 & 0 & 0 & \cdots & 0 & 1 \\ 0 & 1 & 0 & 0 & \cdots & 0 & 0 \\ \vdots & 0 & 1 & 0 & \cdots & 0 & 0 \\ \vdots & \vdots & \vdots & \ddots & \ddots & \vdots & \vdots \\ \vdots & 0 & 0 & \cdots & \cdots & 0 & 0 \\ 0 & 0 & 0 & \cdots & 0 & 1 & 0 \end{bmatrix} \quad (2.6)$$

or

$$B = \begin{bmatrix} 1 & 0 & 0 & 0 & \cdots & 0 \\ 1 \\ 0 \\ 0 & & Q_p & & & \\ \cdots \\ 0 \end{bmatrix},$$

let  $C = (c_{ij})$  denote the  $(p+2) \times (p+2)$  matrix such that

$$C = \begin{bmatrix} 1 & 0 & 0 & 0 & \cdots & 0 & 0 & 0 \\ 1+i & 1+i & 1 & 1 & \cdots & 1 & 1 & 1 \\ i & 1 & 1 & 1 & \cdots & 1 & 1 & i \\ 0 & 1 & 1 & 1 & \cdots & 1 & i & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ 0 & 1 & 1 & i & \cdots & 0 & 0 & 0 \\ 0 & 1 & i & 0 & \cdots & 0 & 0 & 0 \end{bmatrix} \quad (2.7)$$

or

$$C = \begin{bmatrix} 1 & 0 & 0 & \cdots & 0 & 0 \\ 1+i \\ i \\ 0 & & R_p & & & \\ \vdots \\ 0 \end{bmatrix}$$

and let  $E_n$  also be the  $(p+2) \times (p+2)$  square matrix such that

$$E_n = \begin{bmatrix} 1 & 0 & 0 & \cdots & 0 & 0 \\ S_n \\ S_{n-1} \\ S_{n-2} & & Q_p^n & & & \\ \cdots \\ S_{n-p} \end{bmatrix} \quad (2.8)$$

where  $S_n$  denote sums of Gaussian Fibonacci  $p$ -numbers defined as

$$S_n = \sum_{k=0}^n GF_{p,k}.$$

Then we have the following theorem:

**Theorem 9.** *Let  $B$ ,  $C$  and  $E_n$  be the matrices in (2.6), (2.7) and (2.8) respectively. Then for  $n \geq 1$*

$$B^n C = E_n.$$

*Proof.* By induction method. If  $n = 1$ , then from the definition of the matrix  $E_n$  and Gaussian Fibonacci  $p$ -numbers,

$$BC = E_1$$

Assume that the theorem holds for  $n \geq 1$

$$B^n C = E_n.$$

Then for  $n + 1$  we have

$$\begin{aligned} B^{n+1}C &= BB^n C = BE_n \\ &= \begin{bmatrix} 1 & 0 & 0 & 0 & \dots & 0 \\ 1 & & & & & \\ 0 & & & & & \\ 0 & & Q_p & & & \\ \dots & & & & & \\ 0 & & & & & \end{bmatrix} \begin{bmatrix} 1 & 0 & 0 & \dots & 0 & 0 \\ S_n & & & & & \\ S_{n-1} & & & & & \\ S_{n-2} & & Q_p^n & & & \\ \dots & & & & & \\ S_{n-p} & & & & & \end{bmatrix} \\ &= \begin{bmatrix} 1 & 0 & 0 & \dots & 0 & 0 \\ S_{n+1} & & & & & \\ S_n & & & & & \\ S_{n-1} & & Q_p^{n+1} & & & \\ \dots & & & & & \\ S_{n-p+1} & & & & & \end{bmatrix} \\ &= E_{n+1}. \end{aligned}$$

□

**Theorem 10.** *(Cassini Identity) For  $n \geq 0$*

$$\begin{aligned}
& \begin{vmatrix} GF_{p,n+p+1} & GF_{p,n+p} & \cdots & GF_{p,n+2} & GF_{p,n+1} \\ GF_{p,n+p} & GF_{p,n+p-1} & \cdots & GF_{p,n+1} & GF_{p,n} \\ \vdots & \vdots & \ddots & \vdots & \vdots \\ GF_{p,n+2} & GF_{p,n+1} & \cdots & GF_{p,n-p+3} & GF_{p,n-p+2} \\ GF_{p,n+1} & GF_{p,n} & \cdots & GF_{p,n-p+2} & GF_{p,n-p+1} \end{vmatrix} \\
= & (-1)^{pn} \begin{vmatrix} GF_{p,p+1} & GF_{p,p} & \cdots & GF_{p,1} \\ GF_{p,p} & GF_{p,p-1} & \cdots & GF_{p,0} \\ \vdots & \vdots & \vdots & \vdots \\ GF_{p,2} & GF_{p,1} & \cdots & GF_{p,2-p} \\ GF_{p,1} & GF_{p,0} & \cdots & GF_{p,1-p} \end{vmatrix}.
\end{aligned}$$

Corollary 6. [19] For  $n \geq 0$

$$GF_{n+2}GF_n - GF_{n+1}^2 = (-1)^{n+1} (2 - i).$$

### 3. CONCLUSION

In this paper we define and study the Gaussian Fibonacci  $p$ -Numbers and Gaussian Lucas  $p$ -Numbers. We give generating functions, Binet formulas, explicit formulas, matrix representations and sums of Gaussian Fibonacci  $p$ -numbers by matrix methods. By defining these Gaussian Fibonacci and Gaussian Lucas  $p$ -Numbers for special cases for  $p = 1$ ,  $GF_n$  is the Gaussian Fibonacci and  $GL_n$  is the Gaussian Lucas numbers.

### REFERENCES

- [1] Asci M., Gurel E. "Bivariate Gaussian Fibonacci and Bivariate Gaussian Lucas Polynomials". *Ars Combin.* 109 (2013), 461-472.
- [2] Asci M., Gurel E. "Gaussian Jacobsthal and Gaussian Jacobsthal Lucas numbers" *Ars Combin.* 111 (2013), 53-63.
- [3] Berzsenyi, G. "Gaussian Fibonacci numbers". *Fibonacci Quart.* 15 (1977), no. 3, 233-236.
- [4] Berzsenyi, G. "Sums of Products of Generalized Fibonacci Numbers". *The Fibonacci Quarterly* 13 (1975), 343-344.
- [5] Catalini, M., "Generalized Bivariate Fibonacci Polynomials". *arXiv:math.Co/0211366 v2*, (2004).
- [6] Catalini, M., "Some Formulae for Bivariate Fibonacci and Lucas Polynomials". *arXiv:math.Co/0406323 v1*, (2004).
- [7] Djordjevic G.B., "Generating functions of the incomplete generalized Fibonacci and generalized Lucas numbers". *The Fibonacci Quarterly* 42 (2) (2004), 106-113.
- [8] Djordjevic G.B., "Some properties of a class of polynomials". *Matematički Vesnik* 49 (1997), 265-271.
- [9] Djordjevic G.B., "Some Properties of Partial Derivatives of Generalized Fibonacci and Lucas Polynomials". *The Fibonacci Quarterly*, 39 (2), (2001), 138-14.
- [10] Falcon S., Plaza A., "On the Fibonacci  $k$  numbers". *Chaos, Solitons & Fractals* 32 (5) (2007) 1615-1624.

- [11] Frei, G., "Binary Lucas and Fibonacci Polynomials I.". *Mathematische Nachrichten*, 96: 83-112, (1980).
- [12] Good, I. J. "Complex Fibonacci and Lucas numbers, continued fractions, and the square root of the golden ratio". *Fibonacci Quart.* 31 (1993), no. 1, 7 20.
- [13] Gould H. W. , "Combinatorial Identities". Morgantown, W. Va., 50-90, (1972).
- [14] Harman, C. J. "Complex Fibonacci numbers". *Fibonacci Quart.* 19 (1981), no. 1, 82 86.
- [15] Hoggat V.E. Jr., "Fibonacci and Lucas Numbers". MA: Houghton Mifflin, Boston, 1969.
- [16] Horadam, A. F.; Horadam, E. M. "Roots of recurrence-generated polynomials". *Fibonacci Quart.* 20 (1982), no. 3, 219 226.
- [17] Horadam, A. F. "Complex Fibonacci Numbers and Fibonacci Quaternions". *American Math. Monthly* 70 (1963):289-291.
- [18] Horadam, A. F. "A Generalized Fibonacci Sequence". *American Math. Monthly* 68 (1961):455-459,
- [19] Jordan, J. H. "Gaussian Fibonacci and Lucas numbers". *Fibonacci Quart.* 3 1965 315-318.
- [20] Kocer E.G., Tuglu N., Stakhov A., "On the m extension of the Fibonacci and Lucas p numbers". *Chaos, Solitons & Fractals* 40 (4) (2009) 1890 1906.
- [21] Kocer E.G., Tuglu N., "The Binet formulas for the Pell and Pell Lucas p numbers". *Ars Combinatoria* 85 (2007) 3 18.
- [22] Koshy T. "Fibonacci and Lucas Numbers with Applications," A Wiley-Interscience Publication, (2001).
- [23] Lee G-Y., Lee S-G., Kim J-S., Shin H-K., "The Binet Formula and Representations of k-Generalized Fibonacci Numbers". *The Fibonacci Quarterly* (2001) 158-164
- [24] Lee G-Y. "k-Lucas numbers and associated Bipartite graphs", *Linear Algebra Appl* 2000;320:51 61.
- [25] Lee G-Y, Lee S-G. "A note on generalized Fibonacci numbers". *Fibonacci Quart* 1995;33:273 8.
- [26] MacHenry T., "A subgroup of units in the ring of arithmetic functions". *Rocky Mountain Journal of Mathematics* 29 (1999) 1055 1064.
- [27] Nalli, A., Haukkanen, P., "On generalized Fibonacci and Lucas polynomials". *Chaos Solitons Fractals* 42 (2009), no. 5, 3179 3186.
- [28] Pethe, S.; Horadam, A. F. "Generalised Gaussian Fibonacci numbers". *Bull. Austral. Math. Soc.* 33 (1986), no. 1, 37 48.
- [29] Stakhov AP, Rozin B. "The "golden" algebraic equations". *Chaos, Solitons & Fractals* 2006;27:1415 1421.
- [30] Stakhov AP. "Fibonacci matrices, a generalization of the "Cassini formula", and a new coding theory". *Chaos, Solitons & Fractals* 30(1), 2006, p. 56 66.
- [31] Stakhov AP, Rozin B. "Theory of Binet formulas for Fibonacci and Lucas p-numbers". *Chaos, Solitons & Fractals* 2006;27:1162 1177.
- [32] Stakhov AP. "Fundamentals of a new kind of mathematics based on the golden section". *Chaos, Solitons & Fractals* 2005;27:1124 1146.
- [33] Stakhov AP. "The generalized principle of the golden section and its applications in mathematics, science and engineering". *Chaos, Solitons & Fractals* 2005, 26, 263 289.
- [34] Stakhov AP. "Hyperbolic Fibonacci and Lucas functions: a new mathematics for the living nature". ITI, Vinnitsa (2003).
- [35] Stakhov AP. "A generalization of the Fibonacci Q- matrix". *Rep Natl Acad Sci Ukraine* 1999, 9, 46 49.

- [36] Stakhov AP. "The golden section and modern harmony mathematics". Applications of Fibonacci numbers 7. Kluwer Academic Publishers; 1998. p. 393 399.
- [37] Stakhov AP, Tkachenko IS. "Hyperbolic Fibonacci trigonometry". Rep Ukr Acad Sci 1993;208(7):9 14 [in Russian].
- [38] Stakhov AP. "The golden section in the measurement theory". Comput Math Appl 1989;17(4-6):613 638.
- [39] Stakhov AP. "Codes of the golden proportion". Radio and Communications, Moscow (1984) [in Russian].
- [40] Stakhov AP. "Algorithmic measurement theory". Znanie, Series "Mathematics and Cybernetics, Moscow (1979) No. 6 [in Russian].
- [41] Stakhov AP. "Introduction into algorithmic measurement theory". Soviet Radio, Moscow (1977) [in Russian].
- [42] Tan, M., Zhang, Y., "A Note on Bivariate and Trivariate Fibonacci Polynomials". Southeast Asian Bulletin of Mathematics,(2005). 32: 975-990.
- [43] Tuglu, N., Kocer, E. G., Stakhov, A. "Bivariate Fibonacci like p-polynomials". Appl. Math. Comput. 217 (2011), no. 24, 10239 10246.
- [44] Vajda, S., "Fibonacci and Lucas Numbers, and the Golden Section Theory and Applications". Ellis Harwood Limited, (1989).
- [45] Yu, H. Liang, C. "Identities involving partial derivatives of bivariate Fibonacci and Lucas polynomials". Fibonacci Quart. 35 (1997), no. 1, 19 23.
- [46] Yuan Y., Zhang W., "Some identities involving the Fibonacci polynomials". The Fibonacci Quarterly 40 (4) (2002) 314 318.

PAMUKKALE UNIVERSITY SCIENCE AND ARTS FACULTY DEPARTMENT OF MATHEMATICS  
KINIKLI DENIZLI TURKEY

*E-mail address:* mustafa.asci@yahoo.com

PAMUKKALE UNIVERSITY SCIENCE AND ARTS FACULTY DEPARTMENT OF MATHEMATICS  
KINIKLI DENIZLI TURKEY

*E-mail address:* esrefgurel@hotmail.com